
(/sd ? xhf/df_
n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] 

cGTodf

cl3Nnf] q}dfl;ssf] cGTodf cl3Nnf] cf=j=sf] 

;DalGwt q}dfl;ssf] 

cGTodf

1 >f]t -!=! b]lv !=$ ;Dd_ 9,607,979    9,193,547        7,898,828    

1=1 r'Qmf k"FhL      501,337          501,337      401,070 

1=2 hu]8f tyf sf]if      331,640          301,192      120,317 

1=3 hLjg aLdf sf]if    8,775,002         8,391,018     7,377,442 

1=4 ltg{ afFsL bL3{sflng C0f tyf ;fk6L        -               -           -   

2 pkof]u -@=! b]lv @=^ ;Dd_    9,607,979         9,193,547    7,898,828 

2=1 l:y/ ;DkQL -v'b_      617,102          606,304      581,627 

2=2 bL3{sflng nufgL tyf sh{f     3,651,934          3,513,712     2,441,676 

2=3 aLdfn]vsf] lwtf]df shf{      639,960          570,160      449,016 

2=4 v'b rfn' ;DkQL -#_ -$_    4,684,539         4,486,011     4,399,862 

2=5 ckn]vg jf ;dfof]hg x'g jf+sL ljljw vr{x?      14,444           17,360       26,647 

2=6 gfkmf gf]S;fg lx;fajf6 ;f/]sf] gf]S;fg

v'b rfn' ;DkQLsf laa/0f  

rfn' ;DkQLsf] ljj/0f

3 Rffn' ;DkQL shf{ tyf k]ZsLx? -#=! b]lv #=#
;Dd_

   5,431,679         5,226,283    5,045,982 

3=1 gub tyf a}+s df}Hbft      171,701          211,178      143,957 

3=2 cNksflng nufgL     4,665,117         4,464,269     4,381,653 

3=3 cGo ;DkQL     594,861          550,836      520,372 

4 rfn' bfloTj tyf Joj:Yffx? -$=! b]lv $=$ ;Dd_     747,141          740,272      646,119 

4=1 rfn' bfloTj       91,566          155,034      303,272 

4=2 c;dfKt hf]lvd jfkt Joj:yf     219,059          186,495      185,254 

4=3 e'QmfgL x'g afFsL bfjL afkt Joj:yf      108,613          103,748       97,285 

4=4 cGo Aoj:yf      327,903          294,995       60,309 

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2070÷071 sf]]] k|yd q}dfl;s sf] ljlQo ljj/)f

jf;nft



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] 

cGTodf

cl3Nnf] q}dfl;ssf] cGTodf cl3Nnf] cf=j=sf] 

;DalGwt q}dfl;ssf] 

cGTodf

1 cfDbfgL -!=! b]lv !=% ;Dd_      39,471          345,566        9,355 

1=1 cfo Joo lx;faaf6 ;f/]sf]       29,975          100,586         -   

1=2 hLjg aLdf sf]ifaf6 ;f/]sf]        -            210,058         -   

1=3 nufgL shf{ tyf cGoaf6 cfo       9,496           34,922        9,355 

1=4 Joj:yf lkmtf{        -               -           -   

1=5 cGo cfDbfgL -ljj/0f v'nfpg]_        -               -           -   

2 vr{ -@=! b]lv @=* ;Dd_       9,022           51,825        5,706 

2=1 Joj:yfkg vr{       4,219           16,574       4,055 

2=2 ckn]vg vr{        -               -           -   

2=3 cGo vr{x?         19             628         378 

2=4 gf]S;fgLsf] nflu Joj:yf        -               -           -   

2=5 sd{rf/L cfjf; Aoj:yf        -               -           -   

2=6 sd{rf/L af]g; Joj:yf       3,203           29,851         -   

2=7 cfos/       1,581            4,771        1,273 

2=8 hLjg aLdf sf]ifdf ;f/]sf]        -               -           -   

3 v"b gfkmf ÷-gf]S;fg_ -!–@_      30,448          293,741        3,650 

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2070÷071 sf]]] k|yd q}dfl;s sf] ljlQo ljj/)f

gfkmf gf]S;fg lx;fa



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] 

cGTodf

cl3Nnf] q}dfl;ssf] cGTodf cl3Nnf] cf=j=sf] 

;DalGwt q}dfl;ssf] 

cGTodf

1 cfo -!=! b]lv !=& ;Dd_    1,057,978        2,994,801      754,892 

1=1 aLdfz'Ns -v"b_     606,950         2,007,434      314,498 

1=2 k'gaL{df sldzg cfo        -            106,516       27,145 

1=3 nufgL, shf{ tyf cGoaf6 cfo      142,551          562,355      134,579 

1=4 aLdfn]vsf] lwtf]df shf{af6 cfo      15,199           42,762        9,713 

1=5 cGo k|ToIf cfo       3,036            8,831        2,053 

1=6 q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL afkt
Joj:yf

    103,748           81,649       81,649 

1=7 q}dfl;ssf] z'?sf] c;dfKt hf]]lvd afkt Joj:yf     186,495          185,254      185,254 

2 Joo -@=! b]lv @=!) ;Dd_     644,020         1,470,687      547,330 

2=1 bfjL e'QmfgL -v'b_     197,388          703,195      174,147 

2=2 clestf{ sldzg      43,086          193,685       39,435 

2=3 :jf:Yo k/LIf0f z'Ns        503            2,204         417 

2=4 k'gaL{df sldzg vr{        -               -           -   

2=5 ;]jf z'Ns -v'b_       6,070           20,574        3,145 

2=6 cGo k|ToIf vr{        -              4,172           3 

2=7 Joj:yfkg vr{      37,974          149,170       36,499 

2=8 cfos/       31,327          107,443       23,551 

2=9 q}dfl;ssf] cGTodf e'QmfgL x'g afFsL bfjL afkt
Joj:yf

     108,613          103,748      84,880 

2=10 q}dfl;ssf] cGTodf c;dfKt hf]lvd afkt Joj:yf     219,059          186,495      185,254 

3 art -!-@_     413,958         1,524,114      207,561 

3=1 hLjg aLdf sf]ifdf ;f/]sf] art     383,984         1,524,114      207,561 

3=2 gfkmf gf]S;fg lx;fadf ;f/]sf] art      29,975          100,586         -   

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2070÷071 sf]]] k|yd q}dfl;s sf] ljlQo ljj/)f

Plss[t cfo Aoo lx;fa 



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] 

cGTodf

cl3Nnf] q}dfl;ssf]   cGTodf cl3Nnf] cf=j=sf] 

;DalGwt q}dfl;ssf] 

cGTodf

1 aLdfz'Ns cfh{g -s'n_     606,950        2,244,748      371,947 

2 s"n sfod /x]sf] aLdfn]vsf] ;+Vof      265,301          258,376       235,123 

3 3f]lift d"gfkmf -af]g;_ sf] b/ - @)^^.)$.)! ;Dd
@)^(.)#.#!_

 60 b]vL 75  60 b]vL 75  60 b]vL 75 

4 cGtl/d d"gfkmf -af]g;_ sf] b/ -====== b]lv =====
;Dd_

 60 b]vL 75  60 b]vL 75        56 

5 s"nbfjL e'QmfgL /sd     225,548          789,215      197,277 

6 s"nbfjL e'QmfgL /sd ;+Vofdf       2,755            8,962        2,317 

7 e'QmfgL x'g afFsL bfjL /sd      94,446           90,215       86,678 

cGo ljj/)f

gf]^ M n]vfk/LIf)f gePsf c+sx? n]vfkl/If)f kZrft x]/ km]/ x"g ;Sg]% .


